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Les vraies inegalités

e Liés aus effets du CC

e Liés aus politiques d’allocation des droits
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Paris COP

1,5-2C mais rien de trop concrete pour chaque pays
et aucun Prix de C
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COPENHAGUE

Table 1 Allocation by... GF or cap

Grandfathering or Per Capita

Country Current GF Per Capita
US 5400 2700 1000
India 2000 1000 2700
Total 7400 3700 3700



The allocation between US and India

Per Capita

O USA
@ INDIA
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The INDC allocation between US /India ?
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The right to emit valuable
20 Gtons CO2 a 50 S/t = 1000 BS

Grand Per
father  capita

noia 6% 18%
USA 16% 6%



Inequality and gas taxes

Thomas Sterner
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CHALMERS CLIMATE CALCULATOR

Christian Azar, Daniel Johansson (Frt) (1 region vs)

EMISSIONS STOCK OF C TEMPERATURE












STABILIZE EMISSIONS






CUT EMISSIONS 1%
FROM 2020



STILL T-> 2.50R3°



SLASH EMISSIONS
2% IMMEDIATELY



Et si en 2020 on veut atteindrel,5 C






Pour nous les riches?



Growth and Environment 101

* Can we increase income 3% p a &
reduce fossil emissions 2% ?

* Take the transport sector: A
simple modell for fuel demand is
Q=Y PP

e Elasticities 1 for income Y, —0.7
for price P



Just raise fuel price 7% p a !*

. Because P = (0.98/1.03)'(1/0'7) =1.074
* Ceci ne marche pas pour les réductions de 12%!
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Reactions?







































Nigeria abolished fuel subsidy Jan 1



Why are people upset?

* Because the reforms might hurt the poor?
* How judge?

* Budgetshares!



S Africa

Percentage expenditure share of

fuel

Figure 1: Fuel expenditure as a share of total household
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Private transport expenditures
as share of total household expenditures
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Public transport expenditures as share of
total household expenditures
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Transport fuel expenditures
as share of total household expenditures
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Mexico
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Including use of diesel in PubTr

Roughly 25% of bus fare is diesel..
Add shares from private fuel
— Tax in Mexico proportional



Gasoline taxes Regressive in INDIA?
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Tablel: Budget shares of fuels (Transport + Cooking and Lighting Fuels)
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Taking indirect effects into account

Percent of Budget

Incidence of Fuel Tax (Rural)
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Skattevaxling 70 ore/!
mot sankt matmoms



Tax burden as % of annual disposable

income
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Using Expenditure
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Most developing: Progressive



Thank you

* PSIsn’t strange that so many people ONLY talk about
the poor when trying to stop environmental reforms?

* |tisin principle easy to design progressive taxes but
most political reforms the last 30 years have reduced

or abolished progressivity!



Progressivity vs Income






Back to the USA

West and Williams: for USA

More regressive with Income than
Expenditures

Less regressive when you take adaptation into
account

Even less regressive with individual elasticity
Can be progressive with refunding of revenue



Merci

* La prochaine fois le 15 Janvier



Merci

e Extra Detailles extra Suits
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Calculating Suits (1-L/K)
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Using expenditures
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SUITS

Income  Effect Fran Ger Italy Serbia Spain Swe UK
Y TO0T  -0,157 -0,067 0,172 -0,086 -0,178 -0,125
Y Direct -0,155 -0,066 0,187 -0,086 -0,171 -0,123

Life-Y TO0T -0,024 0,008 -0,110 0,051 -0,002 0,064 -0,004

LifeY  Direct -0,021 0,009 -0,110 0,066 -0,002 0,072 -0,003



